

$$(ii). \lim_{x \rightarrow 0} \frac{x^2 \sin \frac{1}{x}}{\sin x} = \lim_{x \rightarrow 0} \frac{x}{\sin x} \times \frac{\sin \frac{1}{x}}{\frac{1}{x}} \\ = 1 \times 1 = 1$$

問題 4.

$$(2) (\sin x)' = \cos x.$$

$$(\sin x)'' = -\sin x$$

$$(\sin x)''' = -\cos x$$

$$(\sin x)^{(4)} = \sin x \quad \text{etc.}$$

$$\sin x = \sin 0 + x \cos 0 + \frac{1}{2!} x^2 (-\sin 0) + \dots$$

$$= x - \frac{1}{3!} x^3 + \frac{1}{5!} x^5 - \dots$$

$$= \sum_{k=1}^{\infty} \frac{(-1)^{k-1} x^{2k-1}}{(2k-1)!}$$

$$\lim_{x \rightarrow 0} \frac{x - \sin x}{x^3} = \lim_{x \rightarrow 0} \frac{x - x + \frac{1}{3} x^3 - \sum_{k=3}^{\infty} \frac{(-1)^{k-1} x^{2k-1}}{(2k-1)!}}{x^3}$$

$$\lim_{x \rightarrow 0} \frac{\sum_{k=3}^{\infty} \frac{(-1)^{k-1} x^{2k-1}}{(2k-1)!}}{x^3} = 0$$

$$\lim_{x \rightarrow 0} \frac{x - \sin x}{x^3} = \frac{1}{3!} = \frac{1}{6}$$

$$(22). \lim_{x \rightarrow 0} \left(\frac{1}{x^2} - \frac{1}{\sin^2 x} \right) = \lim_{x \rightarrow 0} \frac{1}{x^2} \left(1 - \frac{x^2}{\sin^2 x} \right)$$

$$= \lim_{x \rightarrow 0} \frac{1}{x^2} \left(1 - \frac{x}{\sin x} \right) \left(1 + \frac{x}{\sin x} \right)$$

$$\lim_{x \rightarrow 0} \left(1 + \frac{x}{\sin x} \right) = 1 + 1 = 2 \quad \text{etc.} \quad \lim_{x \rightarrow 0} \frac{1}{x^2} \left(1 - \frac{x}{\sin x} \right)$$

を考えろ.

$$\frac{1}{x^2} \left(1 - \frac{1}{\sin^2 x} \right) = \frac{x}{\sin x} \times \frac{\sin x - x}{x^3} \quad \text{etc. (2) から}$$

$$\lim_{x \rightarrow 0} \left(\frac{1}{x^2} - \frac{1}{\sin^2 x} \right) = \lim_{x \rightarrow 0} \frac{x}{\sin x} \times (-1) \times \frac{x - \sin x}{x^3} \times \left(1 + \frac{x}{\sin x} \right)$$

$$= 1 \times (-1) \times \frac{1}{6} \times 2 = -\frac{1}{3}$$